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Derivative Exam Practice
I Find =2 forx? + x2%y +4y? = 6
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2. Differentiate implicitly /xy = 1+ x2y
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3. Find the tangent to x3 + y3 = 6xy at the point (3,3).
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At what points on the curve is the tangent horizontal?
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4. What is the derivative of y = sin™1(x?) ?

J
ok L («*)

5. Find the jerk of y=5x3 - 6x%-5x + 34
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6. Find y " ifx*+y*=16
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7. Find . fory=x
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8. Find y’ fory=log, a

Y= coyx - log, &
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9. Find an equation of the tangent line to the curve y=InIn x at (e, 0).
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10.  Differentiate fix)=1In|V6x =1 (4x +5) |
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12. x =2,/4siny — 6cosy
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13. y=sin(cos x) + sinx * cos x
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18. A particle's position as it travels is given by s(t) =t* - 6t> + 9t. When is it
speeding up?
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